

Some Properties of Induced Fuzzy and Induced Anti Fuzzy Subgroups on a HX Group

K.H.Manikandan

Department of Mathematics,
PSNA College of Engineering and Technology,
Dindigul-624 622, Tamilnadu , India.
manimaths77@gmail.com

R.Muthuraj

Department of Mathematics,
H.H.The Rajah's College,
Pudukkottai – 622 001, Tamilnadu, India.
rnr1973@yahoo.co.in

Received: 11-09-2013

Revised: 19-11-2013

Accepted: 30-11-2013

Abstract: In this paper, we define the concept of induced fuzzy subgroup (fuzzy HX subgroup) and induced anti fuzzy subgroup (anti fuzzy HX subgroup) of a HX group. We also define a fuzzy coset of a fuzzy HX subgroup, anti fuzzy HX subgroup of a HX group, conjugate fuzzy HX subgroups, conjugate anti fuzzy HX subgroups of a HX group and discussed some of its properties with the examples. Then we establish the relation between the fuzzy subset of a group and fuzzy HX subgroup, and the relation between a fuzzy subset of a group and an anti fuzzy HX subgroup of a HX group. Further we define the level subsets and lower level subsets of a fuzzy cosets of a fuzzy HX subgroup, anti fuzzy HX subgroup and discussed some of its properties. We also define quotient HX subgroup of a HX group induced by a fuzzy normal HX subgroup and by an anti fuzzy normal HX subgroup of a HX group. We also discussed its properties under isomorphism and anti isomorphism.

Keywords: HX group , Fuzzy HX subgroup, anti fuzzy HX subgroup, fuzzy cosets of a fuzzy HX group, fuzzy middle cosets, conjugate fuzzy HX subgroups , and quotient HX subgroup

AMS Subject Classification (2000): 20N25, 03E72, 03F055, 06F35, 03G25.

1. INTRODUCTION

The notion of fuzzy sets was introduced by L.A. Zadeh [18]. Fuzzy set theory has been developed in many directions by many researchers and has evoked great interest among mathematicians working in different fields of mathematics. In 1971, Rosenfield [14] introduced the concept of fuzzy subgroup. R. Biswas [1] introduced the concept of anti fuzzy subgroup of group. Li Hongxing [2] introduced the concept of HX group and Chengzhong et al. [4] introduced the concept of fuzzy HX group. Palaniappan.N. et al. [12] discussed the concepts of Anti fuzzy group and its Lower level subgroups. Muthuraj. R., et al. [8] discussed the concepts of Anti Q-fuzzy HX group and its lower level subgroups. Bhattacharya [11] introduced fuzzy right coset and fuzzy left coset of a group. Malik et al.[6] discussed the concepts of fuzzy cosets and quotient semigroups. W. B. Vasantha kandasamy [16] introduced the concept of fuzzy middle cosets of a group. In this paper we define the concept of fuzzy cosets of a fuzzy HX subgroup and anti fuzzy HX subgroup of a HX group, fuzzy middle cosets of a fuzzy HX subgroup and anti fuzzy HX subgroup of a HX group and discussed some of their related properties.

2. PRELIMINARIES

In this section, we site the fundamental definitions that will be used in the sequel. Throughout this paper, $G = (G, *)$ is a finite group, e is the identity element of G , and xy , we mean $x * y$.

2.1 Definition [18]

Let X be any non empty set. A fuzzy subset μ of X is a function $\mu: X \rightarrow [0, 1]$.

2.2 Definition [14]

A fuzzy set μ on G is called fuzzy subgroup of G if for $x, y \in G$,

- i. $\mu(xy) \geq \min \{ \mu(x), \mu(y) \}$
- ii. $\mu(x^{-1}) = \mu(x)$.

2.3 Definition [1]

A fuzzy set μ on G is called an anti fuzzy subgroup of G if for $x, y \in G$,

- i. $\mu(xy) \leq \max \{ \mu(x), \mu(y) \}$
- ii. $\mu(x^{-1}) = \mu(x)$.

Note: [1, Proposition 3.2]

A fuzzy set μ on G is fuzzy subgroup of G iff μ^c is an anti fuzzy subgroup of G .

2.4 Definition [6]

Let μ be a fuzzy subset of a group G . For any $a \in G$, $a\mu$ defined by $(a\mu)(x) = \mu(a^{-1}x)$ for every $x \in G$ is called the fuzzy coset of G determined by a and μ .

Remark:

- i. If $a = e$, then fuzzy coset $a\mu = \mu$
- ii. If μ is a fuzzy subgroup of a group G , and $a = e$ then fuzzy coset $(a\mu)$ is also a fuzzy subgroup of G .
- iii. If μ is an anti fuzzy subgroup of a group G , and $a = e$ then fuzzy coset $(a\mu)$ is also an anti fuzzy subgroup of G .

2.1 Example

Let $G = \{1, i, -1, -i\}$ be a group with respect to multiplication. Define the fuzzy subset μ on G as $\mu(1) = 0.8, \mu(-1) = 0.6, \mu(i) = 0.4$ and $\mu(-i) = 0.4$. Clearly μ is a fuzzy subgroup of G . Then the fuzzy coset $(-1)\mu$ is defined as

$$(-1)\mu(x) = \begin{cases} 0.6 & \text{if } x = 1 \\ 0.8 & \text{if } x = -1 \\ 0.4 & \text{if } x = i \\ 0.4 & \text{if } x = -i \end{cases}$$

Similarly, we can define the other cosets also. The fuzzy coset $a\mu$ is a fuzzy subgroup of G if $a = e$.

We can give an example for fuzzy coset of an anti fuzzy subgroup of a group G .

2.5 Definition [16]

Let μ be a fuzzy subgroup (an anti fuzzy subgroup) of a group G . Then for any $a, b \in G$, a fuzzy middle coset $a\mu b$ of a fuzzy subgroup (an anti fuzzy subgroup) μ determined by the elements a and b of G is defined as $(a\mu b)(x) = \mu(a^{-1}xb^{-1})$ for every $x \in G$.

2.2 Example

$G = \{1, i, -1, -i\}$ be a group with respect to multiplication. Define the fuzzy subset μ on G as $\mu(1) = 0.8, \mu(-1) = 0.6, \mu(i) = 0.4$ and $\mu(-i) = 0.4$. Clearly μ is a fuzzy subgroup of G . The fuzzy middle coset $(-i\mu i)$ is defined as

$$(-i\mu i)(x) = \begin{cases} 0.8 & \text{if } x = 1 \\ 0.6 & \text{if } x = -1 \\ 0.4 & \text{if } x = i \\ 0.4 & \text{if } x = -i \end{cases}$$

Clearly, $(-i\mu i)$ is a fuzzy subgroup of G , since $b = i = a^{-1}$.

But

$$(1\mu i)(x) = \begin{cases} 0.4 & \text{if } x = 1 \\ 0.4 & \text{if } x = -1 \\ 0.8 & \text{if } x = i \\ 0.6 & \text{if } x = -i \end{cases}$$

The fuzzy middle coset $(1\mu i)$ is not a fuzzy subgroup of G .

Remark:

- i. Let μ be the fuzzy subgroup of a group G , then fuzzy middle coset $(a\mu b)$ is also a fuzzy subgroup of G if $b = a^{-1}$.
- ii. Let μ be an anti fuzzy subgroup of a group G , then fuzzy middle coset $(a\mu b)$ is also an anti fuzzy subgroup of G if $b = a^{-1}$.

2.6 Definition [16]

Let λ and μ be two fuzzy subgroups (anti fuzzy subgroups) of a group G . Then λ and μ are said to be conjugate fuzzy subgroups (conjugate anti fuzzy subgroups) of G if for some $y \in G$, $\lambda(x) = \mu(y^{-1}xy)$ for every $x \in G$.

2.7 Definition [7]

Let G be a group. A fuzzy subgroup (an anti fuzzy subgroup) μ of G is called normal if $\mu(x) = \mu(y^{-1}xy)$ for all $x, y \in G$.

2.8 Definition [16]

Let μ be a fuzzy subgroup of a group G and $H = \{x \in G / \mu(x) = \mu(e)\}$ then $o(\mu)$, order of μ is defined as $o(\mu) = o(H)$.

2.9 Definition

Let $(G_1, +)$ and $(G_2, *)$ be any two groups. A map $f: G_1 \rightarrow G_2$ is said to be an anti homomorphism if $f(a + b) = f(b) * f(a)$ for all $a, b \in G_1$.

2.10 Definition

Let $(G_1, +)$ and $(G_2, *)$ be any two groups. $f: G_1 \rightarrow G_2$ is said to be an anti isomorphism if

- i. f is one-one (that is, if $f(x) = f(y)$ then $x = y$)
- ii. f is onto (that is, range of $f =$ co domain of f)
- iii. $f(a + b) = f(b) * f(a)$ for all $a, b \in G_1$.

3. INDUCED FUZZY SUBGROUPS (FUZZY HX SUBGROUPS) ON A HX GROUP AND THEIR PROPERTIES

In this section, we define induced fuzzy subgroup and induced anti fuzzy subgroup of a HX group and discussed some of their related results. Also we define the concepts of fuzzy cosets, fuzzy middle cosets of a fuzzy HX subgroup and anti fuzzy HX subgroup of a HX group. We also define conjugate fuzzy HX subgroup, conjugate anti fuzzy HX subgroup of a HX group and discussed some of their related properties.

3.1 Definition [2]

Let G be a finite group. In $2^G - \{\emptyset\}$, a nonempty set $\mathfrak{H} \subset 2^G - \{\emptyset\}$ is called a HX group on G , if \mathfrak{H} is a group with respect to the algebraic operation defined by $AB = \{ab / a \in A \text{ and } b \in B\}$, which its unit element is denoted by E .

3.2 Definition

Let μ be a fuzzy subset defined on G . Let $\mathfrak{H} \subset 2^G - \{\emptyset\}$ be a HX group on G . A fuzzy set λ^μ defined on \mathfrak{H} is said to be a fuzzy subgroup induced by μ on \mathfrak{H} or a fuzzy HX subgroup on \mathfrak{H} , if , for any $A, B \in \mathfrak{H}$,

- i. $\lambda^\mu(AB) \geq \min \{\lambda^\mu(A), \lambda^\mu(B)\}$

$$\text{ii. } \lambda^\mu(A^{-1}) = \lambda^\mu(A).$$

where, $\lambda^\mu(A) = \max \{ \mu(x) / \text{for all } x \in A \subseteq G \}$.

3.1 Theorem

If μ is a fuzzy subgroup of G then the fuzzy subset λ^μ is a fuzzy HX subgroup on \mathfrak{G} .

Proof

Let μ be a fuzzy subgroup of G .

$$\begin{aligned} \min \{ \lambda^\mu(A), \lambda^\mu(B) \} &= \min \{ \max \{ \mu(x) / \text{for all } x \in A \subseteq G \}, \max \{ \mu(y) / \text{for all } y \in B \subseteq G \} \} \\ &= \min \{ \mu(x_0), \mu(y_0) \} \\ &\leq \{ \mu(x_0 y_0) \}, \text{ since } \mu \text{ is a fuzzy subgroup of } G. \\ &\leq \{ \max \{ \mu(xy) / \text{for all } xy \in AB \subseteq G \} \} \\ &\leq \lambda^\mu(AB) \end{aligned}$$

Hence, $\lambda^\mu(AB) \geq \min \{ \lambda^\mu(A), \lambda^\mu(B) \}$.

$$\begin{aligned} \lambda^\mu(A) &= \max \{ \mu(x) / \text{for all } x \in A \subseteq G \} \\ &= \max \{ \mu(x^{-1}) / \text{for all } x \in A \subseteq G \} \\ &= \max \{ \mu(x^{-1}) / \text{for all } x^{-1} \in A^{-1} \subseteq G \} \\ &= \lambda^\mu(A^{-1}) \end{aligned}$$

$$\lambda^\mu(A) = \lambda^\mu(A^{-1}).$$

Hence, λ^μ is a fuzzy HX subgroup of \mathfrak{G} .

3.1 Example

Let $G = \{ 1, -1, i, -i \}$ be a group under the binary operation multiplication and define a fuzzy set μ on G as $\mu(1) = 0.8, \mu(-1) = 0.6, \mu(i) = 0.4$ and $\mu(-i) = 0.4$. Let $\mathfrak{G} = \{ \{1, -1\}, \{i, -i\} \}$.

Clearly (\mathfrak{G}, \cdot) is a HX group.

Define $\lambda^\mu(A) = \max \{ \mu(x) / \text{for all } x \in A \subseteq G \}$.

Clearly $\lambda^\mu(\{1, -1\}) = 0.8$ and $\lambda^\mu(\{i, -i\}) = 0.4$ and if for all $A, B \in \mathfrak{G}$,

- i. $\lambda^\mu(AB) \geq \min \{ \lambda^\mu(A), \lambda^\mu(B) \}$
- ii. $\lambda^\mu(A^{-1}) = \lambda^\mu(A)$.

Clearly, λ^μ is a fuzzy HX subgroup of \mathfrak{G} .

Remark:

Let μ be a fuzzy subset of a group G . If λ^μ is a fuzzy HX subgroup on \mathfrak{G} , then μ need not be a fuzzy subgroup of G .

3.2 Example:

Let $G = \{ 1, -1, i, -i \}$ be a group under the binary operation multiplication and fuzzy subset μ on G defined as $\mu(1) = 0.8, \mu(-1) = 0.6, \mu(i) = 0.4$ and $\mu(-i) = 0.25$. Let $\mathfrak{G} = \{ \{1, -1\}, \{i, -i\} \}$ be a HX group. Define a fuzzy subset λ^μ on \mathfrak{G} such that $\lambda^\mu(A) = \max \{ \mu(x) / \text{for all } x \in A \subseteq G \}$. Then $\lambda^\mu(\{1, -1\}) = 0.8, \lambda^\mu(\{i, -i\}) = 0.4$. Clearly λ^μ is a fuzzy HX subgroup of \mathfrak{G} , but μ is not a fuzzy subgroup of G .

3.3 Definition

Let μ be a fuzzy subset defined on G . Let $\mathfrak{G} \subset 2^G - \{\emptyset\}$ be a HX group on G . A fuzzy set λ_μ defined on \mathfrak{G} is said to be an anti fuzzy subgroup induced by μ on \mathfrak{G} or an anti fuzzy HX subgroup on \mathfrak{G} , if, for any $A, B \in \mathfrak{G}$,

- i. $\lambda_\mu(AB) \leq \max \{ \lambda_\mu(A), \lambda_\mu(B) \}$
- ii. $\lambda_\mu(A^{-1}) = \lambda_\mu(A)$.

where, $\lambda_\mu(A) = \min \{ \mu(x) / \text{for all } x \in A \subseteq G \}$.

3.2 Theorem

If μ is an anti fuzzy subgroup of G then λ_μ is also an anti fuzzy HX subgroup on \mathfrak{G} .

Proof

Let μ be an anti fuzzy subgroup of G . By note 2.1, μ^c is a fuzzy subgroup of G . By theorem 3.1 λ^{μ^c} is a fuzzy HX subgroup on \mathfrak{G} . Clearly $(\lambda^{\mu^c})^c$ is an anti fuzzy HX subgroup on \mathfrak{G} . Now $(\lambda^{\mu^c})^c(x) = 1 - \lambda^{\mu^c}(x) = \lambda_{\mu}(x)$. Hence λ_{μ} is an anti fuzzy HX subgroup on \mathfrak{G} .

3.3 Example

Let $G = \{ 1, -1, i, -i \}$ be a group under the binary operation multiplication and define a fuzzy set μ on G as $\mu(1) = 0.4, \mu(-1) = 0.6, \mu(i) = 0.7$ and $\mu(-i) = 0.7$. Let $\mathfrak{G} = \{ \{1,-1\}, \{i,-i\} \}$.

Clearly (\mathfrak{G}, \cdot) is a HX group.

Define $\lambda_{\mu}(A) = \min \{ \mu(x) / \text{for all } x \in A \subseteq G \}$.

Clearly, $\lambda_{\mu}(\{1,-1\}) = 0.4$ and $\lambda_{\mu}(\{i,-i\}) = 0.7$ and for all $A, B \in \mathfrak{G}$,

- i. $\lambda_{\mu}(AB) \leq \max \{ \lambda_{\mu}(A), \lambda_{\mu}(B) \}$
- ii. $\lambda_{\mu}(A^{-1}) = \lambda_{\mu}(A)$.

Clearly, λ_{μ} is an anti fuzzy HX subgroup of \mathfrak{G} .

Remark:

If μ is a fuzzy subset of a group G and λ_{μ} be an anti fuzzy HX subgroup defined on \mathfrak{G} , a HX group on G such that $\lambda_{\mu}(A) = \min \{ \mu(x) / \text{for all } x \in A \subseteq G \}$, then μ need not be an anti fuzzy subgroup of G .

3.4 Example:

Let $G = \{ 1, -1, i, -i \}$ be a group under the binary operation multiplication and fuzzy set μ on G defined as $\mu(1) = 0.25, \mu(-1) = 0.6, \mu(i) = 0.75$ and $\mu(-i) = 0.7$. Let $\mathfrak{G} = \{ \{1,-1\}, \{i,-i\} \}$ be a HX group. Define a fuzzy subset λ_{μ} on \mathfrak{G} such that $\lambda_{\mu}(A) = \min \{ \mu(x) / \text{for all } x \in A \subseteq G \}$ which gives $\lambda_{\mu}(\{1,-1\}) = 0.25, \lambda_{\mu}(\{i,-i\}) = 0.7$. Clearly λ_{μ} is an anti fuzzy HX subgroup of \mathfrak{G} , but μ is not an anti fuzzy subgroup of G .

3.3 Theorem

Let μ be a fuzzy set defined on G and let λ^{μ} be a fuzzy HX subgroup of a HX group \mathfrak{G} , then the fuzzy coset $(A\lambda^{\mu})$ is a fuzzy HX subgroup of \mathfrak{G} if $\min \{ \lambda^{\mu}(A^{-1}Y), \lambda^{\mu}(A) \} = \lambda^{\mu}(A^{-1}Y)$ for every $A \in \mathfrak{G}$.

Proof

Let λ^{μ} be a fuzzy HX subgroup of a HX group \mathfrak{G} .

For every X and Y in \mathfrak{G} , we have,

$$\begin{aligned} (A\lambda^{\mu})(XY^{-1}) &= \lambda^{\mu}(A^{-1}XY^{-1}) \\ &= \lambda^{\mu}(A^{-1}XY^{-1}AA^{-1}) \\ &\geq \min \{ \lambda^{\mu}(A^{-1}X), \lambda^{\mu}(Y^{-1}AA^{-1}) \} \\ &\geq \min \{ \lambda^{\mu}(A^{-1}X), \min \{ \lambda^{\mu}(Y^{-1}A), \lambda^{\mu}(A^{-1}) \} \} \\ &= \min \{ \lambda^{\mu}(A^{-1}X), \min \{ \lambda^{\mu}((Y^{-1}A)^{-1}), \lambda^{\mu}(A) \} \} \\ &= \min \{ \lambda^{\mu}(A^{-1}X), \min \{ \lambda^{\mu}(A^{-1}Y), \lambda^{\mu}(A) \} \} \\ &= \min \{ \lambda^{\mu}(A^{-1}X), \lambda^{\mu}(A^{-1}Y) \} \\ &= \min \{ (A\lambda^{\mu})(X), (A\lambda^{\mu})(Y) \} \end{aligned}$$

Therefore, $(A\lambda^{\mu})(XY^{-1}) \geq \min \{ (A\lambda^{\mu})(X), (A\lambda^{\mu})(Y) \}$

Hence, $(A\lambda^{\mu})$ is a fuzzy HX subgroup of \mathfrak{G} .

3.4 Theorem

Let μ be a fuzzy set defined on G and let λ_{μ} be an anti fuzzy HX subgroup of a HX group \mathfrak{G} , then the fuzzy coset $(A\lambda_{\mu})$ is also an anti fuzzy HX subgroup of \mathfrak{G} if $\max \{ \lambda_{\mu}(A^{-1}Y), \lambda_{\mu}(A) \} = \lambda_{\mu}(A^{-1}Y)$ for every $A \in \mathfrak{G}$.

Proof

Let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} .

For every X and Y in \mathfrak{G} , we have,

$$\begin{aligned} (A\lambda_\mu)(XY^{-1}) &= \lambda_\mu(A^{-1}XY^{-1}) \\ &= \lambda_\mu(A^{-1}XY^{-1}AA^{-1}) \\ &\leq \max\{\lambda_\mu(A^{-1}X), \lambda_\mu(Y^{-1}AA^{-1})\} \\ &\leq \max\{\lambda_\mu(A^{-1}X), \max\{\lambda_\mu(Y^{-1}A), \lambda_\mu(A^{-1})\}\} \\ &= \max\{\lambda_\mu(A^{-1}X), \max\{\lambda_\mu((Y^{-1}A)^{-1}), \lambda_\mu(A)\}\} \\ &= \max\{\lambda_\mu(A^{-1}X), \max\{\lambda_\mu(A^{-1}Y), \lambda_\mu(A)\}\} \\ &= \max\{\lambda_\mu(A^{-1}X), \lambda_\mu(A^{-1}Y)\} \\ &= \max\{(A\lambda_\mu)(X), (A\lambda_\mu)(Y)\} \end{aligned}$$

Therefore, $(A\lambda_\mu)(XY^{-1}) \leq \{ \max\{(A\lambda_\mu)(X), (A\lambda_\mu)(Y)\} \}$

Hence $(A\lambda_\mu)$ is an anti fuzzy HX subgroup of \mathfrak{G} .

3.4 Definition

Let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} . For any A , B $\in \mathfrak{G}$, define a binary relation **R** on \mathfrak{G} by ,

$$A R B \Leftrightarrow \lambda^\mu(AB^{-1}) = \lambda^\mu(E), E \text{ is the identity element of } \mathfrak{G}.$$

3.5 Definition

Let λ^μ be a fuzzy normal HX subgroup of \mathfrak{G} . Then the equivalence class **R** containing A is denoted by λ^μ_A and \mathfrak{G}/λ^μ denotes the corresponding quotient set, defined as $\mathfrak{G}/\lambda^\mu = \{ \lambda^\mu_A / A \in \mathfrak{G} \}$.

3.6 Definition

Let λ^μ be a fuzzy normal HX subgroup of a HX group $(\mathfrak{G}, *)$, then the quotient set \mathfrak{G}/λ^μ is a quotient HX group induced by λ^μ with the operation $\lambda^\mu_A * \lambda^\mu_B = \lambda^\mu_{A*B} = \lambda^\mu_{AB}$.

3.5 Example

Let $G = \{ 1, -1, i, -i \}$ be a group under the binary operation multiplication and define a fuzzy subset μ on G as $\mu(1) = 0.8, \mu(-1) = 0.6, \mu(i) = 0.4$ and $\mu(-i) = 0.4$. Let $\mathfrak{G} = \{ \{1\}, \{-1\}, \{i\}, \{-i\} \}$ be a HX group. Define a fuzzy subset λ^μ on \mathfrak{G} as $\lambda^\mu(A) = \max\{ \mu(x) / \text{for all } x \in A \subseteq G \}$ which gives $\lambda^\mu(\{1\}) = 0.8, \lambda^\mu(\{-1\}) = 0.6, \lambda^\mu(\{i\}) = 0.4$ and $\lambda^\mu(\{-i\}) = 0.4$. Clearly λ^μ is a fuzzy normal HX subgroup of \mathfrak{G} . Define a fuzzy quotient set \mathfrak{G}/λ^μ as $\mathfrak{G}/\lambda^\mu = \{ \lambda^\mu_{\{1\}}, \lambda^\mu_{\{-1\}} \}$. Clearly \mathfrak{G}/λ^μ is a quotient HX group.

3.7 Definition

Let λ_μ be an anti fuzzy normal HX subgroup of \mathfrak{G} . Then the equivalence class **R** containing A is denoted by λ_{μ_A} and $\mathfrak{G}/\lambda_{\mu_A}$ denotes the corresponding quotient set, defined as $\mathfrak{G}/\lambda_{\mu_A} = \{ \lambda_{\mu_A} / A \in \mathfrak{G} \}$.

3.8 Definition

Let λ_μ be an anti fuzzy normal HX subgroup of a HX group $(\mathfrak{G}, *)$, then the quotient set $\mathfrak{G}/\lambda_{\mu_A}$ is a quotient HX group induced by λ_μ with the operation $\lambda_{\mu_A} * \lambda_{\mu_B} = \lambda_{\mu_{A*B}} = \lambda_{\mu_{AB}}$.

3.6 Example

Let $G = \{ 1, -1, i, -i \}$ be a group under the binary operation multiplication and define a fuzzy set μ on G as $\mu(1) = 0.2, \mu(-1) = 0.4, \mu(i) = 0.6$ and $\mu(-i) = 0.6$. Let $\mathfrak{G} = \{ \{1\}, \{-1\}, \{i\}, \{-i\} \}$ be HX group. Define a fuzzy subset λ_μ on \mathfrak{G} such that $\lambda_\mu(A) = \min\{ \mu(x) / \text{for all } x \in A \subseteq G \}$ which gives $\lambda_\mu(\{1\}) = 0.2, \lambda_\mu(\{-1\}) = 0.4, \lambda_\mu(\{i\}) = 0.6$ and $\lambda_\mu(\{-i\}) = 0.6$. Clearly λ_μ is an anti fuzzy normal HX subgroup of \mathfrak{G} . Define a fuzzy quotient set \mathfrak{G}/λ_μ as $\mathfrak{G}/\lambda_\mu = \{ \lambda_{\mu_{\{1\}}}, \lambda_{\mu_{\{-1\}}} \}$. Clearly

\mathfrak{G}/λ_μ is a quotient HX group.

3.9 Definition

Some Properties of Induced Fuzzy and Induced Anti Fuzzy Subgroups on a HX Group

Let μ be a fuzzy subset defined on G and let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} with $\lambda_\mu(A) = \min \{ \mu(x) / \text{for all } x \in A \subseteq G \}$. For any $A \in \mathfrak{G}$, $A\lambda_\mu$ defined by $A\lambda_\mu(X) = \lambda_\mu(A^{-1}X)$ for every $X \in \mathfrak{G}$ is called the fuzzy coset of a fuzzy HX group λ_μ of \mathfrak{G} determined by A .

3.7 Example

Let G be the Klein's 4 group. Then $G = \{e, a, b, ab\}$ where $a^2 = e = b^2$, $ab = ba$ and e the identity element of G .

Define a fuzzy subset μ on G as follows,

$$\mu(x) = \begin{cases} \frac{1}{2} & \text{if } x = e \\ \frac{3}{4} & \text{if } x = a \\ \frac{1}{4} & \text{if } x = b, ab \end{cases}$$

Let $\mathfrak{G} = \{\{e, a\}, \{b, ab\}\}$ be a HX group on G .

Define $\lambda^\mu(A) = \max \{ \mu(x) / \text{for all } x \in A \subseteq G \}$.

We have,

$$\lambda^\mu(X) = \begin{cases} \frac{3}{4} & \text{if } X = \{e, a\} \\ \frac{1}{4} & \text{if } X = \{b, ab\} \end{cases}$$

Clearly, λ^μ is a fuzzy HX subgroup of a HX group \mathfrak{G} . Now, we compute the fuzzy cosets of λ^μ .

$$\begin{aligned} \text{i.} \quad \{e, a\}\lambda^\mu(X) &= \begin{cases} \frac{3}{4} & \text{if } X = \{e, a\} \\ \frac{1}{4} & \text{if } X = \{b, ab\} \end{cases} \\ \text{ii.} \quad \{b, ab\}\lambda^\mu(X) &= \begin{cases} \frac{1}{4} & \text{if } X = \{e, a\} \\ \frac{3}{4} & \text{if } X = \{b, ab\} \end{cases} \end{aligned}$$

Remark:

- i. If $A = E$, then fuzzy coset $A\lambda^\mu = \lambda^\mu$.
- ii. If $A = E$, then fuzzy coset $A\lambda_\mu = \lambda_\mu$.
- iii. If λ^μ is a fuzzy HX subgroup of a group \mathfrak{G} , and If $A = E$, then fuzzy coset $A\lambda^\mu$ is also a fuzzy HX subgroup of \mathfrak{G} .
- iv. If λ_μ is an anti fuzzy HX subgroup of a group \mathfrak{G} , and If $A = E$, then fuzzy coset $A\lambda_\mu$ is also an anti fuzzy HX subgroup of \mathfrak{G} .

3.10 Definition

Let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} . Then for any $A, B \in \mathfrak{G}$, a fuzzy middle coset $(A\lambda^\mu B)$ of a fuzzy HX subgroup λ^μ of \mathfrak{G} determined by A and B is defined as $(A\lambda^\mu B)(X) = \lambda^\mu(A^{-1}X B^{-1})$ for every $X \in \mathfrak{G}$.

Similarly we can define middle coset for an anti fuzzy HX subgroup λ_μ .

3.5 Theorem

Let μ be a fuzzy subset defined on G and let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} , then the fuzzy middle coset $(A\lambda^\mu A^{-1})$ of a fuzzy HX group λ^μ of \mathfrak{G} determined by A and A^{-1} of \mathfrak{G} is a fuzzy HX subgroup of \mathfrak{G} .

Proof

Let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} and $A \in \mathfrak{G}$.

Let $X, Y \in \mathfrak{G}$. Then,

$$\begin{aligned}
 (A\lambda^\mu A^{-1})(XY^{-1}) &= \lambda^\mu(A^{-1}XY^{-1}A), \text{ by the definition} \\
 &= \lambda^\mu(A^{-1}X A A^{-1}Y^{-1}A) \\
 &= \lambda^\mu((A^{-1}XA)(A^{-1}YA)^{-1}) \\
 &\geq \min\{\lambda^\mu(A^{-1}XA), \lambda^\mu(A^{-1}YA)^{-1}\} \\
 &\geq \min\{\lambda^\mu(A^{-1}X A), \lambda^\mu(A^{-1}YA)\}, \\
 &\quad \{\text{since } \lambda^\mu \text{ is a fuzzy HX subgroup of } \mathfrak{G}\} \\
 &\geq \min\{(A\lambda^\mu A^{-1})(X), (A\lambda^\mu A^{-1})(Y)\}.
 \end{aligned}$$

Therefore, $(A\lambda^\mu A^{-1})(XY^{-1}) \geq \min\{(A\lambda^\mu A^{-1})(X), (A\lambda^\mu A^{-1})(Y)\}$.

Hence, $(A\lambda^\mu A^{-1})$ is an anti fuzzy HX subgroup of a HX group \mathfrak{G} .

3.6 Theorem

Let μ be a fuzzy subset defined on G and let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} , then the fuzzy middle coset $(A\lambda_\mu A^{-1})$ of an anti fuzzy HX group λ_μ of \mathfrak{G} determined by A and A^{-1} of \mathfrak{G} is an anti fuzzy HX subgroup of \mathfrak{G} .

Proof

Let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} and $A \in \mathfrak{G}$.

Let $X, Y \in \mathfrak{G}$. Then,

$$\begin{aligned}
 (A\lambda_\mu A^{-1})(XY^{-1}) &= \lambda_\mu(A^{-1}XY^{-1}A), \text{ by the definition} \\
 &= \lambda_\mu(A^{-1}X A A^{-1}Y^{-1}A) \\
 &= \lambda_\mu((A^{-1}XA)(A^{-1}YA)^{-1}) \\
 &\leq \max\{\lambda_\mu(A^{-1}XA), \lambda_\mu(A^{-1}YA)^{-1}\} \\
 &\leq \max\{\lambda_\mu(A^{-1}X A), \lambda_\mu(A^{-1}YA)\}, \\
 &\quad \{\text{since } \lambda_\mu \text{ is an anti fuzzy HX subgroup of } \mathfrak{G}\} \\
 &\leq \max\{(A\lambda_\mu A^{-1})(X), (A\lambda_\mu A^{-1})(Y)\}.
 \end{aligned}$$

Therefore, $(A\lambda_\mu A^{-1})(XY^{-1}) \leq \max\{(A\lambda_\mu A^{-1})(X), (A\lambda_\mu A^{-1})(Y)\}$.

Hence, $(A\lambda_\mu A^{-1})$ is an anti fuzzy HX subgroup of a HX group \mathfrak{G} .

3.11 Definition

Let μ and η be the two fuzzy sets defined on G . Let λ^μ and γ^η be any two fuzzy HX subgroups of a HX group \mathfrak{G} . Then λ^μ and γ^η are said to be conjugate fuzzy HX subgroups of \mathfrak{G} if for some $A \in \mathfrak{G}$, $\lambda^\mu(X) = \gamma^\eta(A^{-1}XA)$ for every $X \in \mathfrak{G}$.

Similarly we can define the same for anti fuzzy HX subgroups of \mathfrak{G} .

3.12 Definition

Let \mathfrak{G} be a HX group. A fuzzy HX subgroup λ^μ of \mathfrak{G} is said to be normal if for all

$$A, B \in \mathfrak{G}, \lambda^\mu(ABA^{-1}) = \lambda^\mu(B) \text{ or } \lambda^\mu(AB) = \lambda^\mu(BA).$$

3.7 Theorem

λ^μ and γ^η be conjugate fuzzy HX subgroups of an abelian HX group \mathfrak{G} if and only if $\lambda^\mu = \gamma^\eta$.

Proof

Let λ^μ and γ^η be any two fuzzy HX subgroups of an abelian HX group \mathfrak{G} , then for some $B \in \mathfrak{G}$, we have,

$$\begin{aligned}
 \lambda^\mu(A) &= \gamma^\eta(B^{-1}AB), \text{ for every } A \in \mathfrak{G} \\
 &= \gamma^\eta(B^{-1}BA), \text{ since } \mathfrak{G} \text{ is an abelian HX group} \\
 &= \gamma^\eta(EA) = \gamma^\eta(A).
 \end{aligned}$$

Therefore, $\lambda^\mu(A) = \gamma^\eta(A)$ for every $A \in \mathfrak{G}$. Hence $\lambda = \gamma$.

Conversely, let $\lambda^\mu = \gamma^\eta$, then,

$$\text{we have, } \lambda^\mu(A) = \gamma^\eta(A) = \gamma^\eta(E^{-1}EA) = \gamma^\eta(E^{-1}AE), \text{ for every } A \in \mathfrak{G}.$$

Hence, λ^μ and γ^η are conjugate fuzzy HX subgroups of \mathfrak{G} .

3.8 Theorem

λ_μ and γ_η be conjugate anti fuzzy HX subgroups of an abelian HX group \mathfrak{G} if and only if $\lambda_\mu = \gamma_\eta$.

Proof

It is clear from theorem 3.7.

3.13 Definition [8]

Let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} . For any $t \in [0,1]$, the set $U(\lambda^\mu; t) = \{ A \in \mathfrak{G} / \lambda^\mu(A) \geq t \}$ is called the level subset of λ^μ .

3.14 Definition

Let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} . For any $t \in [0,1]$, the set $U(A\lambda^\mu; t) = \{ X \in \mathfrak{G} / (A\lambda^\mu)(X) = \lambda^\mu(A^{-1}X) \geq t, \text{ for some } A \in \mathfrak{G} \}$ is called the level subset of a fuzzy coset $A\lambda^\mu$.

3.15 Definition [8]

Let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} . For any $t \in [0,1]$, the set $L(\lambda_\mu; t) = \{ A \in \mathfrak{G} / \lambda_\mu(A) \leq t \}$ is called the lower level subset of λ_μ .

3.16 Definition

Let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} . For any $t \in [0,1]$, the set $L(A\lambda_\mu; t) = \{ X \in \mathfrak{G} / (A\lambda_\mu)(X) = \lambda_\mu(A^{-1}X) \leq t, \text{ for some } A \in \mathfrak{G} \}$ is called the lower level subset of a fuzzy coset $A\lambda_\mu$.

3.9 Theorem

Let μ be a fuzzy subset defined on G and let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} , then $U(A\lambda^\mu; t) = AU(\lambda^\mu; t)$, for every $A \in \mathfrak{G}$ and $t \in [0, 1]$.

Proof

Let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} and let $X \in \mathfrak{G}$.

$$\begin{aligned} \text{Now, } X \in U(A\lambda^\mu; t) &\Leftrightarrow (A\lambda^\mu)(X) \geq t \\ &\Leftrightarrow \lambda^\mu(A^{-1}X) \geq t \\ &\Leftrightarrow A^{-1}X \in U(\lambda^\mu; t) \\ &\Leftrightarrow X \in AU(\lambda^\mu; t) \end{aligned}$$

Hence, $U(A\lambda^\mu; t) = AU(\lambda^\mu; t)$, for every $A \in \mathfrak{G}$.

3.10 Theorem

Let μ be a fuzzy set defined on G and let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} , then $L(A\lambda_\mu; t) = AL(\lambda_\mu; t)$, for every $A \in \mathfrak{G}$ and $t \in [0, 1]$.

Proof

It is clear from theorem 3.9.

3.11 Theorem

Let μ be a fuzzy set defined on G and let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} . Then $X\lambda^\mu = Y\lambda^\mu$, for X and Y in \mathfrak{G} if and only if $\lambda^\mu(X^{-1}Y) = \lambda^\mu(Y^{-1}X) = \lambda^\mu(E)$.

Proof

Let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} .

Let $X\lambda^\mu = Y\lambda^\mu$, for X and Y in \mathfrak{G} .

Then, $X\lambda^\mu(X) = Y\lambda^\mu(X)$ and $X\lambda^\mu(Y) = Y\lambda^\mu(Y)$, which implies that,

$$\lambda^\mu(X^{-1}X) = \lambda^\mu(Y^{-1}X) \text{ and } \lambda^\mu(X^{-1}Y) = \lambda^\mu(Y^{-1}Y).$$

Hence $\lambda^\mu(E) = \lambda^\mu(Y^{-1}X)$ and $\lambda^\mu(X^{-1}Y) = \lambda^\mu(E)$

Therefore, $\lambda^\mu(Y^{-1} X) = \lambda^\mu(X^{-1} Y) = \lambda^\mu(E)$.

Conversely, let $\lambda^\mu(Y^{-1} X) = \lambda^\mu(X^{-1} Y) = \lambda^\mu(E)$, for X and Y in \mathfrak{G} .

For every A in \mathfrak{G} , we have,

$$\begin{aligned} X\lambda^\mu(A) &= \lambda^\mu(X^{-1}A) \\ &= \lambda^\mu(X^{-1} Y Y^{-1}A) \\ &\geq \min\{\lambda^\mu(X^{-1} Y), \lambda^\mu(Y^{-1}A)\} \\ &= \min\{\lambda^\mu(E), \lambda^\mu(Y^{-1}A)\} \\ &= \lambda^\mu(Y^{-1}A) \\ &= Y\lambda^\mu(A). \end{aligned}$$

Therefore, $X\lambda^\mu(A) \geq Y\lambda^\mu(A)$.

similarly, $Y\lambda^\mu(A) \geq X\lambda^\mu(A)$.

Hence, $X\lambda^\mu(A) = Y\lambda^\mu(A)$.

Hence, $X\lambda^\mu = Y\lambda^\mu$.

3.12 Theorem

Let μ be a fuzzy set defined on G and let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} . Then $X\lambda_\mu = Y\lambda_\mu$, for X and Y in \mathfrak{G} if and only if $\lambda_\mu(X^{-1}Y) = \lambda_\mu(Y^{-1}X) = \lambda_\mu(E)$.

Proof

Let λ_μ be a fuzzy HX subgroup of a HX group \mathfrak{G} .

Let $X\lambda_\mu = Y\lambda_\mu$, for X and Y in \mathfrak{G} .

Then, $X\lambda_\mu(X) = Y\lambda_\mu(X)$ and $X\lambda_\mu(Y) = Y\lambda_\mu(Y)$, which implies that,

$$\lambda_\mu(X^{-1} X) = \lambda_\mu(Y^{-1} X) \text{ and } \lambda_\mu(X^{-1} Y) = \lambda_\mu(Y^{-1} Y).$$

Hence $\lambda_\mu(E) = \lambda_\mu(Y^{-1} X)$ and $\lambda_\mu(X^{-1} Y) = \lambda_\mu(E)$

Therefore, $\lambda_\mu(Y^{-1} X) = \lambda_\mu(X^{-1} Y) = \lambda_\mu(E)$.

Conversely, let $\lambda_\mu(Y^{-1} X) = \lambda_\mu(X^{-1} Y) = \lambda_\mu(E)$, for X and Y in \mathfrak{G} .

For every A in \mathfrak{G} , we have,

$$\begin{aligned} X\lambda_\mu(A) &= \lambda_\mu(X^{-1}A) \\ &= \lambda_\mu(X^{-1} Y Y^{-1}A) \\ &\leq \max\{\lambda_\mu(X^{-1} Y), \lambda_\mu(Y^{-1}A)\} \\ &= \max\{\lambda_\mu(E), \lambda_\mu(Y^{-1}A)\} \\ &= \lambda_\mu(Y^{-1}A) \\ &= Y\lambda_\mu(A). \end{aligned}$$

Therefore, $X\lambda_\mu(A) \leq Y\lambda_\mu(A)$.

similarly, $Y\lambda_\mu(A) \leq X\lambda_\mu(A)$.

Hence, $X\lambda_\mu(A) = Y\lambda_\mu(A)$.

Hence, $X\lambda_\mu = Y\lambda_\mu$.

3.13 Theorem

Let μ be a fuzzy set defined on G and let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} and $X\lambda_\mu = Y\lambda_\mu$, for X and Y in \mathfrak{G} . Then $\lambda_\mu(X) = \lambda_\mu(Y)$.

Proof

Let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} and $X\lambda_\mu = Y\lambda_\mu$, for X and Y in \mathfrak{G} .

$$\begin{aligned} \text{Now, } \lambda_\mu(X) &= \lambda_\mu(Y Y^{-1} X) \\ &\leq \max\{\lambda_\mu(Y), \lambda_\mu(Y^{-1} X)\} \\ &= \max\{\lambda_\mu(Y), \lambda_\mu(E)\}, \text{ by Theorem 3.11} \\ &= \lambda_\mu(Y). \end{aligned}$$

Therefore, $\lambda_\mu(X) \leq \lambda_\mu(Y)$.

Similarly, $\lambda_\mu(Y) \leq \lambda_\mu(X)$.

Hence, $\lambda_\mu(X) = \lambda_\mu(Y)$.

3.14 Theorem

Let μ be a fuzzy set defined on G and let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} and $X\lambda^\mu = Y\lambda^\mu$, for X and Y in \mathfrak{G} . Then $\lambda^\mu(X) = \lambda^\mu(Y)$.

Proof

It is clear from theorem 3.13.

3.15 Theorem

Let μ be a fuzzy set defined on G and let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} and $U(X\lambda^\mu; t) = U(Y\lambda^\mu; t)$, for $X, Y \in \mathfrak{G} - U(\lambda^\mu; t)$ and $t \in [0, 1]$, then $\lambda^\mu(X) = \lambda^\mu(Y)$.

Proof

Let λ^μ be a fuzzy HX subgroup of a HX group \mathfrak{G} and $U(X\lambda^\mu; t) = U(Y\lambda^\mu; t)$, for $X, Y \in \mathfrak{G} - U(\lambda^\mu; t)$, and $t \in [0, 1]$.

But $Y^{-1}X$ and $X^{-1}Y \in U(\lambda^\mu; t)$. (by theorem 3.12)

$$\begin{aligned} \text{Now, } \lambda^\mu(X) &= \lambda^\mu(Y Y^{-1} X) \\ &\geq \min \{ \lambda^\mu(Y), \lambda^\mu(Y^{-1} X) \} \\ &= \min \{ \lambda^\mu(Y), t \}, \\ &= \lambda^\mu(Y). \end{aligned}$$

Therefore, $\lambda^\mu(X) \geq \lambda^\mu(Y)$.

Similarly, $\lambda^\mu(Y) \geq \lambda^\mu(X)$.

Hence, $\lambda^\mu(X) = \lambda^\mu(Y)$.

3.16 Theorem

Let μ be a fuzzy set defined on G and let λ_μ be an anti fuzzy HX subgroup of a HX group \mathfrak{G} and $L(X\lambda_\mu; t) = L(Y\lambda_\mu; t)$, for $X, Y \in \mathfrak{G} - L(\lambda_\mu; t)$ and $t \in [0, 1]$, then $\lambda_\mu(X) = \lambda_\mu(Y)$.

Proof

It is clear from theorem 3.15.

3.17 Theorem

Let μ be a fuzzy set defined on G and let λ^μ be a fuzzy normal HX subgroup of a HX group $(\mathfrak{G}, *)$, then the quotient set $\mathfrak{G} / \lambda^\mu$ is a HX group with the operation $\lambda_A^\mu * \lambda_B^\mu = \lambda_{A^*B}^\mu = \lambda_{AB}^\mu$.

Proof

Let λ_A^μ and $\lambda_B^\mu \in \mathfrak{G} / \lambda^\mu$ for some A and $B \in \mathfrak{G}$,

Clearly, $B^{-1} \in \mathfrak{G}$.

Therefore, $\lambda_{B^{-1}}^\mu \in \mathfrak{G} / \lambda^\mu$.

Now, $\lambda_A^\mu * \lambda_{B^{-1}}^\mu = \lambda_{AB^{-1}}^\mu \in \mathfrak{G} / \lambda^\mu$ as $AB^{-1} \in \mathfrak{G}$.

Hence $\mathfrak{G} / \lambda^\mu$ is a HX group.

3.18 Theorem

Let μ be a fuzzy set defined on G and let λ_μ be an anti fuzzy normal HX subgroup of a HX group $(\mathfrak{G}, *)$, then the quotient set $\mathfrak{G} / \lambda_\mu$ is a HX group with the operation $\lambda_{\mu_A} * \lambda_{\mu_B} = \lambda_{\mu_{A^*B}} = \lambda_{\mu_{AB}}$.

Proof

It is clear from theorem 3.17.

3.19 Theorem

If $f: \mathfrak{G} \rightarrow \mathfrak{G}'$ be a homomorphism of HX group \mathfrak{G} onto a HX group \mathfrak{G}' and let λ_μ, γ_η be two anti fuzzy normal HX subgroups of \mathfrak{G} and \mathfrak{G}' with $\lambda_\mu(A) = f^{-1}(\gamma_\eta)(A) = \gamma_\eta(f(A))$. Then the function $g: \mathfrak{G} / \lambda_\mu \rightarrow \mathfrak{G}' / \gamma_\eta$ defined as $g(\lambda_{\mu_A}) = \gamma_{\eta_{f(A)}}$, for every $A \in \mathfrak{G}$, is an isomorphism on a HX group $\mathfrak{G} / \lambda_\mu$.

Proof

Let λ_{μ_A} and $\lambda_{\mu_B} \in \mathfrak{G} / \lambda_\mu$.

Now, $g(\lambda_{\mu_A}) = g(\lambda_{\mu_B})$

$$\begin{aligned} &\Leftrightarrow \gamma_{\eta_{f(A)}} = \gamma_{\eta_{f(B)}} \\ &\Leftrightarrow \gamma_\eta(f(A)(f(B))^{-1}) = \gamma_\eta(E'), \text{ } E' \text{ is the identity of } \mathfrak{G}' \\ &\Leftrightarrow \gamma_\eta(f(A)f(B^{-1})) = \gamma_\eta(E'), \text{ } f \text{ is a homomorphism} \\ &\Leftrightarrow \gamma_\eta(f(AB^{-1})) = \gamma_\eta(f(E)), \text{ } f \text{ is a homomorphism} \\ &\Leftrightarrow \lambda_\mu(AB^{-1}) = \lambda_\mu(E) \\ &\Leftrightarrow \lambda_{\mu_A} = \lambda_{\mu_B} \end{aligned}$$

Hence g is one-one.

Clearly g is onto as f is onto.

Now,

$$\begin{aligned} g(\lambda_{\mu_A} \cdot \lambda_{\mu_B}) &= g(\lambda_{\mu_{AB}}) \\ &= \gamma_{\eta_{f(AB)}} \\ &= \gamma_{\eta_{f(A)f(B)}}, \text{ } f \text{ is a homomorphism} \\ &= \gamma_{\eta_{f(A)}} \cdot \gamma_{\eta_{f(B)}} \\ &= g(\lambda_{\mu_A}) \cdot g(\lambda_{\mu_B}) \end{aligned}$$

Therefore $g(\lambda_{\mu_A} \cdot \lambda_{\mu_B}) = g(\lambda_{\mu_A}) \cdot g(\lambda_{\mu_B})$

Hence g is an isomorphism.

3.20 Theorem

If $f: \mathfrak{G} \rightarrow \mathfrak{G}'$ be a homomorphism of HX group \mathfrak{G} onto a HX group \mathfrak{G}' and let λ^μ, γ^η be two fuzzy normal HX subgroups of \mathfrak{G} and \mathfrak{G}' with $\lambda^\mu(A) = f^{-1}(\gamma^\eta)(A) = \gamma^\eta(f(A))$. Then the function $g: \mathfrak{G} / \lambda^\mu \rightarrow \mathfrak{G}' / \gamma^\eta$ defined as $g(\lambda_A^\mu) = \gamma_{f(A)}^\eta$, for every $A \in \mathfrak{G}$, is an isomorphism on a HX group $\mathfrak{G} / \lambda^\mu$.

Proof

It is clear from theorem 3.19.

3.21 Theorem

If $f: \mathfrak{G} \rightarrow \mathfrak{G}'$ be an anti homomorphism of HX group \mathfrak{G} onto a HX group \mathfrak{G}' and λ^μ, γ^η be two fuzzy normal HX subgroups of \mathfrak{G} and \mathfrak{G}' with $\lambda^\mu(A) = f^{-1}[\gamma^\eta(A)] = \gamma^\eta(f(A))$. Then the function $g: \mathfrak{G} / \lambda^\mu \rightarrow \mathfrak{G}' / \gamma^\eta$ defined as $g(\lambda_A^\mu) = \gamma_{f(A)}^\eta$, for every $A \in \mathfrak{G}$, is an anti isomorphism on a HX group \mathfrak{G} / λ .

Proof

Let λ_A^μ and $\lambda_B^\mu \in \mathfrak{G} / \lambda^\mu$.

Now, $g(\lambda_A^\mu) = g(\lambda_B^\mu)$

$$\begin{aligned} &\Leftrightarrow \gamma_{f(A)}^\eta = \gamma_{f(B)}^\eta \\ &\Leftrightarrow \gamma^\eta(f(A)(f(B))^{-1}) = \gamma^\eta(E'), \text{ } E' \text{ is the identity of } \mathfrak{G}' \\ &\Leftrightarrow \gamma^\eta(f(A)f(B^{-1})) = \gamma^\eta(E'), \text{ } f \text{ is a homomorphism} \\ &\Leftrightarrow \gamma^\eta(f(AB^{-1})) = \gamma^\eta(f(E)) \text{ } f \text{ is a homomorphism} \\ &\Leftrightarrow \lambda^\mu(AB^{-1}) = \lambda^\mu(E) \\ &\Leftrightarrow \lambda_A^\mu = \lambda_B^\mu \end{aligned}$$

Hence g is one-one .

Clearly g is onto as f is onto.

Now,

$$\begin{aligned} g(\lambda_A^\mu . \lambda_A^\mu) &= g(\lambda_{AB}^\mu) \\ &= \lambda_{f(AB)}^\eta \\ &= \gamma_{f(A)f(B)}^\eta, \text{ } f \text{ is a homomorphism} \\ &= \lambda_{f(A)}^\eta . \lambda_{f(B)}^\eta \\ &= g(\lambda_A^\mu) . g(\lambda_B^\mu) \end{aligned}$$

Therefore $g(\lambda_A^\mu . \lambda_B^\mu) = g(\lambda_A^\mu) . g(\lambda_B^\mu)$

Hence g is an anti isomorphism.

3.22 Theorem

If $f: \mathfrak{G} \rightarrow \mathfrak{G}'$ be an anti homomorphism of HX group \mathfrak{G} onto a HX group \mathfrak{G}' and λ_μ, γ_η be two anti fuzzy normal HX subgroups of \mathfrak{G} and \mathfrak{G}' with $\lambda_\mu(A) = f^{-1}(\gamma_\eta)(A) = \gamma_\eta(f(A))$. Then the function $g: \mathfrak{G} / \lambda_\mu \rightarrow \mathfrak{G}' / \gamma_\eta$ defined as $g(\lambda_{\mu A}) = \gamma_{\eta f(A)}$, for every $A \in \mathfrak{G}$, is an anti isomorphism on a HX group $\mathfrak{G} / \lambda_\mu$.

Proof

It is clear from theorem 3.21.

4. CONCLUSION

1. Here we redefined the fuzzy HX subgroup and discussed some of their related properties with the suitable examples, which will be very useful in the application field of fuzzy groups.
2. We discussed the relationship between fuzzy and anti fuzzy HX subgroups of a HX group, it guide us to learn to apply fuzzy HX subgroups in the various fields of engineering and technology.
3. Also we discussed the concepts of pseudo fuzzy cosets of an induced fuzzy and induced anti fuzzy subgroups of a HX subgroup, which provide the expanded idea of fuzzy HX subgroups for the well travel in the field of communication.

REFERENCES

- [1] Journal: Biswas. R, Fuzzy subgroups and anti-fuzzy subgroups, Fuzzy Sets and Systems 35(1990), 121-124.
- [2] Journal: Li Hongxing, HX group, BUSEFAL, 33(1987), 31-37.

- [3] Journal: Li Xiaoping, The intuitionistic fuzzy subgroup and its some equivalent propositions, BUSEFAL, 82(2000), 40-44.
- [4] Journal: Luo Chengzhong , Mi Honghai , Li Hongxing , Fuzzy HX group , BUSEFAL. 41(14), October 1989, 97-106.
- [5] Journal: Mohamed Asaad, Groups and Fuzzy Subgroups, Fuzzy Sets and Systems 39(1991), 323-328.
- [6] Journal:Malik D.S., John N. Mordeson and Nair P. S., Fuzzy normal subgroups in fuzzy subgroups, J. Korean Math. Soc. 29 (1992), No. 1, 1-8.
- [7] Journal: Mashour. A. S., Ghanim. M.H. and Sidky. F.I., Normal fuzzy subgroups, UnivNovom Sadu Zb.Rad.Prirod. Mat.Fak.Ser.Mat.20, 2(1990), 53-59.
- [8] Journal: Muthuraj.R, K.H.Manikandan, M.S.Muthuraman, P.M.Sitharselvam, Anti Q-fuzzy HX group and its lower level sub HX groups, International Journal of Computer Applications, – 8887), Vol.6, No.4, 16-20, September 2010.
- [9] Muthuraj.R, K.H.Manikandan, P.M.Sitharselvam, “On Anti Q-fuzzy Normal HX group” – conference proceedings -Advanced Mathematical Analysis- Jayaraj Annapackiam College for women, Periyakulam, India, December 20-21, 2011.
- [10] Work Presented at conference: Muthuraj.R, K.H.Manikandan, P.M.Sitharselvam, “On Anti Q-fuzzy Normal HX group” – proceedings of the conference-Advanced Mathematical Analysis- Jayaraj Annapackiam College for women, Periyakulam, India, December 20-21, 2011.
- [11] Journal: Prahibir Bhattacharya, Fuzzy sub groups: Some characterizations, J. Math. Anal. Appl. 128 (1981) 241-252.
- [12] Journal: Palaniappan.N. Muthuraj.R., Anti fuzzy group and Lower level subgroups, Antartica J.Math., 1 (1) (2004) , 71-76.
- [13] Journal: Palaniappan. N, Muthuraj. R., The homomorphism, Anti-homomorphism of a fuzzy and an anti-fuzzy group, Varahmihir Journal of mathematical Sciences, 4(2)(2004) 387-399.
- [14] Journal: Rosenfeld. A., Fuzzy Groups, Journal of mathematical analysis and applications, 35(1971), 512-51.
- [15] Journal: Samit kumar majumder and Sujit kumar sardar, On some properties of anti fuzzy subgroups, J.Mech.Cont.&Math.Sci., Vol-3, No.-2, (Dec’2008), 337-343.
- [16] Book: Vasantha Kandasamy. W. B., Smarandahe Fuzzy Algebra, American Research Press, 2003
- [17] Journal: Yong Lin Liu, Quotient groups induced by fuzzy subgroups, Quasigroups and related systems 11 (2004), 71-78.
- [18] Book: Zadeh. L. A., Fuzzy sets, Information and control, 8, (1965) 338-353.

AUTHORS’ BIOGRAPHY



K.H.Manikandan is working as an Associate Professor in Department of Mathematics, P.S.N.A. College of Engg., & Tech., Dindigul, Tamilnadu, India, with 12 years of experience in the field of teaching . He published a book in engineering mathematics. He persuing his research on fuzzy algebra, and published around 10 papers in various journals and presented 5 papers in the different conferences. He is now interested in doing research in the field of applications of fuzzy groups.



R. Muthuraj is an Assistant Professor of Mathematics, at The H.H. Rajah’s College; Pudukkotai, India with 17 years of experience, 2 books published by Scitech publications, and authored more than 50 papers in various national and international journals. 8 members are doing research work under his guidance. He is reviewer of “International journal of computer applications”, and “Annals of Fuzzy Mathematics & Informatics”, in the area of Fuzzy Algebra and Fuzzy Topology.